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‘The next federal election will be held in October. Using a 140-10 scale, where 10 means you are completely certain you will vote and 1 means you are completely certain you will NOT vote, how likely are you to vote in the upcoming federal election?
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And is this party the same party or a different party from the one you voted for in the last Federal Election?
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How certain are you that this is the party that you will actually support on Election Day?
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And, assuming you can' vote for your first choice, which party would you support as a second choice?
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In your opinion, who is going to win the upcoming federal election?
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5 0% 1% 0% 1% 10% % 9% 1% 9% 1% 9% 2% 3% 3% 2% T5% 0% % % 2% 1a% 0% 0% % 7% 7% 1a% 2% % 3% 0% %
3 9 9 Q 9 WX e
730 s FE) 3 23 5 Y 3 7z z 5 7 2 0 16 T G 5 z £ 3 By z £ 5y 3 % 7 7 57 5 3T
4 9% % 1% 2% 11% 5% 1% 1% % % % 0% % % % W% - % To% 3% 1% 1% 1% 0% % % 1% 0% % 3% 1% %
A £ 3 T ) XV xv xv xv xv b b e
¥ w & @ @ % Y E3 £ = ) % 5 7 ® 3 G 5 ) 7 7z 27 ) i ] 5y ™ ) 7 % 7 ©
3 5% 5% 5% % 5% % 11% 5% % % % % % % 9% % - W% 1a% % % % % % % 7% 7% 5% % % % %
il b S W X X X X X
S 3 o 77 % B % % ) T g % 3 z 5 ) z T = ) 5 w Ey = 7 T Fi 3 Fi 3 © ™
2 % % % % % % 5% % 2% % 1% % 1% 2% W% % % T0% 5% % 2% % % 5% % 1% 7% % % % % )
3 3 KO T hd > £
77 o1 7% &% £ 5y Y £ 7 % % E3 w 5 ) % ) 101 % 3 % 5 3 3 Fi 3 % E3 = £ £ 7
1 Strongly disagree 9% % 0% 10% 1% % 1% 2% 9% % % 5% 5% % 2% 7% 7% B 1% 0% % 1% 2% % % 5% 2% 0% % 0% 3% %
£ £ T il T TKLMNR | IKLN X X X X b e
2502 T2 T % 71 992 £ 707 5 o 77 Iz %58 % %5 2 % T80 %68 290 08 o £ w2 ET Tor %51 6 578 s = i
T00% T00% T00% T00% T00% T00% 100% 100% T00% 100% 100% 100% 100% 100% 100% 100% 100% 100% T00% T00% 100% 100% 100% 100% 100% 100% T00% 100% 100% 100% 100% 100%
1893 949 944 475 606 812 231 484 663 516 629 562 239 & 148 18 20 39 146 180 294 336 269 316 354 143 158 306 485 316 300 21
a8 7% 76% 2% o8% 70% 52% o2% o8% 7% a3% a5% 7% 3% 7% 76% S6% 7a% 21% sa% 2% 2% 0% 9% 4% 9% a5 3% 2% 8% 71% 6% 9%
] ) o FGH RNQR x x x =x Q s s STOVW | STUVW z Z Gl
65 w56 17 £ 517 3% 5% o7 R s 566 %6 201 o1 1% = ™ £ 20 ) 735 77 750 775 £ T = %57 @ %7 %50 255
28 oa% 6% o2% sa% 50% 7a% 2% 5% o8% 72% 77% o7% 70% G5% 61% 1% sa% 18% 5% 0% S8 60% So% G5% 2% 785 a5 2% 76% 575 7% 2%
o) o 7S RMNQR ® =x x =® Q s s STUVW | STUVW z Z el
PES 707 7 FE) T 28 02 ] 123 53 5 2 2 5 a1 = 7 3 ) 7T &% 5 7 s 3z 7 5 53 7z % 03 57
b3B 7% 16% 18% 20% 20% 13% 21% 21% 1% 10% % 1% 0% 16% 6% 0% 2% 70% 0% 2% 7% 1o% 20% 7% % 3% 2% 6% 2% 7% 2 1a%
3 € il Gl T 3 3 3 TKLMNR | IKLMN XV x X X X ab e
310 T 6 % 123 B &2 1 5 7 E3 5y T 5 = ) 7 16 2 @ a7 53 £l 57 ) o I3 a B 5 i3 i
628 12% 2% 3% 1% 1% 9% 7% 16% 11% % 5% % % % % 1% 2% G6% T6% 7% 1% 1a% 15% 3% &% &% 8% 1% % 1% 7% 0%
€ € T il T 3 KN | IKLN xv X X xv X b e
o s 3 s 52 = 5o B = 57 5o 51 5o 5o 57 57 75 51 26 T B 54 = 53 55 52 51 B 55 S e 52 )
> o TG RNNGR = = = = Q s STOVW | STovw z z El
Siandard Deviation 7 7 z z 71 16 7z 71 5 7 15 17 17 18 17 74 74 73 71 71 z 71 71 2 5 7 72 2 T8 z 72 )
Standard Error 0 o1 [ o1 o1 o1 0z o1 o1 01 01 01 01 01 01 05 05 0z 01 0z o1 01 01 01 01 01 02 o1 01 o1 01 01
Viedian o1 1 Q 55 58 52 53 59 51 51 52 51 51 51 51 gY) 57 T 75 5 58 58 58 51 53 53 a9 Q 52 58 56 52

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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FEDVOTE

Stab

(1 have a duty/personal responsibility 1o vote in the upcoming federal election) Do you agree or disagree with the following statements 2.Using a scale of 110 7 where 1 means you strongly disagree and 7 means you strongly agree. The frst stalement is.
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MALE

FEMALE

Detailed Tables

e Party r Party (NDP) _(BQ) Party Party other party _ballot ure.
A B c D E F G ] J K L M N o P o R S T [ v X Y z a b © d
Base: All ©espondents 2562 1214 1348 576 840 1046 15 758 880 698 782 272 150 189 %8 2 152 268 197 378 506 734 443 a1 201 448 564 375 401
Weighted 2562 1244 1318 658 871 552 374 707 623 737 743 288 54 195 il 26 180 268 250 408 781 350 307 167 251 416 578 448 455
1536 782 754 327 476 733 183 201 399 512 465 176 61 125 1 3 38 131 125 202 260 216 a1 139 112 233 437 215 243
7 Strongly agree. 60% 63% 57% 4% 55% 74% 49% 57% 64% 69% 63% 61% 66% 64% 44% 49% 21% 49% 43% 50% 54% 55% 79% 84% 45% 56% 76% 48% 53%
5 © [5) G RLQR oR R oR oR Q s s STUVW | STuvWw z Za
25 148 146 ) 114 93 3 58 104 80 86 23 16 19 1 7 g 23 %0 8 =3 50 a1 10 3 60 56 E 55
6 12% 12% 1% 13% 13% % % E 1% 1% 12% 15% 1% 10% 38% 21% 5% 8% 7% 7% 13% 13% 10% 6% 13% 14% 10% 12% 12%
E FGH Q R SWXY s
260 124 136 54 101 5 ) E3 B 52 8 & £ 5 7 3 5 fEy 36 @ 51 @ 57 & 15 3 3 53 & 56 78 3
5 10% 10% 10% 13% 12% 7% 1% 12% % 8% 9% 1% 1% 5% 9% 9% 19% 6% 13% 15% 12% 9% 15% 8% 5% 8% 15% 13% 6% 13% 10% 8%
E E W WX X X WX b b
168 E3 13 7 7 a6 a0 75 54 % a1 54 21 3 15 2 o 7 a6 34 a1 50 24 E 10 2 31 30 2 a7 a %
4 8% 7% 9% 1% 8% 5% 1% 1% 6% 5% 6% 7% 7% % 8% 7% - 10% 17% 12% 1% 10% 6% 8% 2% 1% 12% 7% 4% 1% 10% 5%
E E T L KLV VXY XY XY X XY b e e
82 ES) ) EJ E ey ey 27 7 % fEy % 14 7 7 o 1 fEy 11 21 15 21 13 g 3 [ 15 7 7 21 17 5
3 % % % 5% % 1% % % % % 1% % 5% 5% % - 6% 6% % 7% % 2% 3% 2% 1% - 6% 4% 1% 5% 4% 1%
E E 3 3 3 3 WY X Al X b b e e
55 3 5 37 7 15 7 21 ey 7 fEy g 7 1 2 o o 2 g %6 11 4 3 1 3 1 3 2 g E 5 7
2 2% % % 5% % 2% 6% 3% 1% 1% 2% 1% 1% 1% 1% - - 12% 3% 9% 3% % % 3% 1% 1% 1% 1% 1% 8% 1% 2%
A DE FL FL IKLMNR TOVWXY Ge
1 52 E Ed 5 & ) 39 a0 1 3 %3 o 3 8 T o 71 1 21 7 E 27 18 g 2 18 21 3 20 a 7
1 Strongly disagree 5% 4% 6% 5% 7% 3% 11% 6% 5% 2% 2% 3% - 3% 4% 2% - 40% 5% 7% 4% 8% 7% 4% 2% 1% 7% 5% 2% 4% 10% 4%
E E I T T T T T JKLMNR T XY XY XY b b ce
2562 1244 1318 699 871 002 374 707 858 623 737 743 288 54 195 32 26 180 268 290 408 481 390 429 397 167 251 416 578 448 455 415
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
2001 1055 1036 509 601 250 544 732 556 660 635 250 83 162 29 25 58 190 188 321 368 323 355 373 162 184 346 526 326 345 365
3B 82% 85% 79% 73% 79% 69% 7% 85% 89% 90% 85% 87% 88% 83% 9% 9% 32% 71% 65% 79% 76% 83% 83% 94% 97% 73% 83% 91% 73% 76% 88%
5 © G FGH KR R R [ R Q S S S S STUVW | STuvw z Za o
1831 81 500 15 550 217 759 61 504 592 551 219 78 144 %6 20 ar 154 5 270 321 266 322 ) 149 46 292 493 269 258 333
28 1% 75% 68% 50% 68% 58% 5% 76% 81% 80% 7% 76% 3% 7% 82% 76% 26% 57% 50% 66% 67% 68% 75% 89% 89% 58% 70% 85% 60% 65% 80%
5 © G FGH KR R R R R Q S S S STU STUVW | stuvw z Za o
273 104 169 EEEY 106 75 88 7 38 36 54 17 8 18 T T 04 33 8 a3 63 a3 38 1 3 36 0 27 7 66 28
B38 1% A 13% 16% 12% 20% 12% E 6% 5% 7% 6% 9% % 2% 6% 58% 12% 23% 10% 13% 1% 9% 4% 2% 14% 10% 5% 17% 14% 7%
A E E H H IKLVNR 3 TOVWXY. XY XY XY XY b b e 0
o1 & 126 75 7 a 64 60 51 16 % 2 7 7 i T o 53 21 ar 28 a2 2 2 2 3 21 23 21 E a8 21
828 7% 5% 10% 1% E % 1% % 6% % % % 1% % 5% 2% - 52% 8% 16% 7% 9% 8% 7% 3% 2% 8% 6% 4% 12% 11% 6%
Ly E E GHI T T T JKLVNR 3L TOVWXY X XY X X b 0 0
ean 59 6 58 55 57 63 53 57 61 62 63 61 62 62 6 61 61 33 55 51 57 57 58 g 65 67 55 59 64 55 56 62
5 © 58] F G FGH KOR [ [ R R Q S S S STU STOVW | stuovw z Za o
Standard Deviation 17 16 18 19 18 14 21 18 16 i3 13 15 13 15 16 iz it 24 18 2 i7 19 i7 17 1z T 18 16 13 19 19 15
Standard Error 0 0 0 01 01 0 02 01 0 0 01 01 01 01 01 02 02 02 01 01 [ 01 01 o1 01 01 01 01 01 01 01 01
Median 62 62 61 55 61 63 59 61 62 62 63 62 62 62 62 58 3 18 59 5 5 61 61 62 64 64 56 61 63 58 61 63

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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FED VOTE
Stab

(1have a great deal of interest in following the news and information about the upcoming federal election) Do you agree or disagree with the following statements 2.Using a scale of 110 7 where 1 means you strongly disagree and 7 means you strongly agree. The first stalement is.
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Detailed Tables

TOTAL Male Female e Party Party Party (NDP) (BQ) Party Party other party ballot Sure
A B C D E F G 1 J K L M N o P [ R S T U v X Y z a b c d e
Base: Al espondents 2562 FEIT) FEL) 576 530 046 5 58 80 55 782 272 150 169 2% 2 T52 %68 To7 i 506 [y 3z T 201 749 EZ3 B o1 8z
Weighied 2562 D24 FEIT] 55 71 592 372 707 25 77 73 288 o 105 327 26+ 60" 268 230 08 81 390 307 67 251 16 578 a8 55 15
760 [ 326 s 21 Ed oz 215 Tor 22 £ @ 3 5 5 5 7 = &2 02 20 3 To2 03 & 27 203 00 3 a0
7 songly agree 30% 35% 5% 2a% 2% 39% 2% 1% 31% 0% 315 27% 27% 29% 7% 6% 2% 3% 21% 5% 275 21% 1% a8% 26% 30% 2% 2% 9% 3a%
® o) RIMNGR o R R R STUW | STOW Za el
3% 200 i % iy 64 b3} Ed e e 20 125 £ i % 5 5 5 ) @ E3 5 & & % o £ Tox 57 % £
5 T5% 6% 3% 1a% 3% 7% % 1% T5% 2% 16% 7% 7% 1a% 3% 6% 29% 5% ™% 5% 3% 1% 6% 219 7% 6% 3% 18% 3% 3% 1a%
F FoH [ o R q Q Tow
a7 71 7% % e i % % i 5 148 158 53 25 @0 7 7 5 ES £ % 107 7T 77 13 = a 3 oy a7 % 7T
5 19% 9% 9% 6% 21% 6% 5% 7% 21% 2% 20% 21% 2% %% 21% 20% 7% % 3% 2% 2% 2% 20% 18% 9% 1a% 7% 21% 18% 19% 2% 7%
G q R R R q Q S S S
01 fizd 72 a7 s % % % % & £ Tor 5% 1T 38 7 0 T o2 E 7 5 3 E3 = © ® & & £ B £
4 16% 4% 7% 20% 7% 2% 5% 6% 6% 3% 3% 6% 19% 2% 20% 1% - 0% 23% 20% 9% 7% 6% 5% % 12% 0% 15% 1% 20% 18% 3%
£ 3 T Q g X X X X X b e
717 7 % S 7 E3 % 7 7T a7 @ @ © o ) 7 0 % E @ 5] i 37 3T @ 9 % 77 B % B EY
3 % % 1% 2% 9% 5% 9% 0% % &% &% &% &% 0% 0% 2% - 1a% 21% 5% 1% % % % % 5% 1% % % 3% 1% 7%
L) £ £ T ® FKLWN WXV X X X b e
% o 7 @ i ) @ 37 3 T & 3 = 7 = 7 0 £ % £ 5 % ® 3T = 7 % % % 3T 5 %
2 5% 5% &% 7% 5% 5% 1% 5% % % % % W% 5% 7% ™% - 175 0% 115% % % 5% % 3% 2% &% &% % % 3% 7%
[l T 3 3 TN ® TOVXY X @
&7 ) ey T o7 @ 5 5 E % % 3 = 5 2 7 7 7 37 i) z a7 5 3T © 3 = 3T © % % 30
1 Stongly disagree 7% 5% o% &% 1% 5% 1a% 7% 7% % % % W% &% % &% &% 0% 1a% &% 5% 0% 13% % % 2% 5% 7% 3% &% 5% 7%
A cE il T T N JRLVNR | KLV XY STWXY b ce
p— 7562 Toaa 316 699 71 592 374 707 858 623 737 743 288 % 155 2] % 180 268 290 208 a1 390 429 597 167 251 416 578 w8 55 s
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
y
1621 864 757 389 510 723 417 554 462 562 516 101 53 121 20 2 35 89 139 250 288 22 210 321 13 146 268 451 243 242 272
T8 5% 6% 575% 563 59% 73% 59% G5% 74y, 763 695 G6%% 675 625 63 925 9% 3% 8% 615 60 579 63% 81 9% 58% G4 78% 54 53% G5%
® o) " FGH RLNGR [ or or or Q s S S STUW_ | STOW Za cd
1154 533 501 %61 £ 547 7] 299 376 327 a1 358 128 3% 81 ] i % E] 104 157 51 75 163 245 109 04 16 347 157 a1 200
28 aa% 515 38% 7% 7% 5% 35% 2% aa% 535 5630 8% 2a% 1% 2% % G55 6% 20% 6% 38% 38% 37 5% 6296 Go% 2% 4% 0% 35% 32% 8%
® o) FGH | KIVNGR or or or or STOW_ | STOW Za od
539 203 3% 73 716 51 25 61 68 78 52 106 2] 18 £ 5 7 127 117 % £ 110 106 % [ 5 57 ] & 116 15 8
B3B 21% 6% 26% 5% 25% 5% 5% 23% 20% 13% 1% 1a%, 5% 20% 16% 6% &% 1% as 2% 20% 233 27% 22% 1% % 2% 20% 11% 26% 20% 21%
) 3 3 Gt T T 3 TLVNR | IKLVN | TOWXY XY x¥ p2] XY b 0 e
£ 5 198 57 38 o7 o % o7 £ ) & % 0 £ ) 7 103 2 50 37 G G & % 7 29 57 39 % 81 EJ
628 15% 0% 5% 13% 16% 0% 5% 13% 1% 7% 5% &% % 0% ™% 1a5 &% 575 23% 7% % 1a% 18% 1a% % % 12% 1a% % 13% 18% 1a%
A € Gt T T JKLVNR | IKLWN Y XY ™Y v b
e 5 52 a7 a7 a7 54 Y] o) 5 53 55 52 51 5 51 s 57 28 38 5 s 78 5 5 56 55 49 5 56 a7 x) 51
® o) " F FGH | KIVNGR R [ or [ Q sV sV STOW_ | STOW Za il
Standard Deviation 9 8 o 8 o 18 21 19 18 16 16 17 17 18 16 o 16 21 18 1o 17 1o 7 19 16 15 18 19 16 18 7 19
Standard Error 0 o1 o1 o1 o1 o1 02 o1 o1 01 01 [} o1 o1 [} 04 03 02 [} o1 o1 o1 [} o1 o1 o1 o1 o1 o1 [} [ [
Wiedian a7 51 @z 43 @z 53 ) a5 a7 51 54 s a7 a7 5 a7 55 16 33 39 5 4z 3 a7 56 59 [ a7 56 42 a1 49

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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FEDVOTE

Stab

‘Thinking about the Liberal government under the leadership of Justin Trudeau, from what you have seen, read or heard, would you say that you strongly approve, somewhat approve, somewhat disapprove or strongly disapprove of their performance?
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FEMALE

Detailed Tables

e Party Party _ Parly (NDP) __(BQ) party other party __ballot ar
A B c D 3 F G H I J K L ] N o P [ R s T [ v X 2 z a b c d e
Base: Al espondents 2562 FEIT) FEL) 576 530 046 5 58 008 80 55 782 272 150 169 2% 2 T52 %68 To7 i 506 [y 3z T 201 749 EZ3 B o1 8z
Weighied 2562 D24 FEIT] 55 71 592 372 707 58 25 77 73 288 o 105 327 26+ 60" 268 230 08 81 390 307 67 251 16 578 a8 55 15
2 20 03 3 77 51 3 & 7% o1 [ T (g 3 3 0 3 G 3 3 £ 3 2 3 o T % 3 i % = =
strongly approve 9% 0% % 9% 9% % 7% 9% 9% 0% % 25% 5% % % - Ta% % % 2% 7% % 8% % 0% 10% 1% 1% 8% 8% 7% 8%
JCMNGR R W
£ 0% o1 2% 22 3 a7 208 £ 752 £ %60 % % T 5 3 & [ 22 75 75 7 iy fEE] @ oy e 167 o2 5 @5
Somewhat approve 35% 3% 7% 2% 345 1% 7% 29% 35% 1% % 625 3% 7% 0% 2% 2% 345 345 a2 3% 36% 30% 3% 31% 7% 2% 32% 29% 3% 35% 3%
L) oE 9 o JCMNGR 3 3 3 3 3 VXY VWXV b
oL 773 528 187 75 % & 5 o2 160 A (3 00 % % 3 5 @ oz B2 106 To7 08 02 7 £y £ % 1% 27 17 3
Somewhat disapprove 25% 2% 5% 27% 5% 20% 7% 2% 2% 2% 25% 1% 5% 31% 345 0% 29% 2% 345 2% 26% 2% 28% 2% 1% 8% 2% 2% 20% 2% 26% 20%
3 K ® 3 ® K ® X X X X e
e a2 7 a7 753 £ % 2% %8 ] w8 77 7 27 a7 7 = 3 7 @ % 754 30 156 166 77 57 ] 2% % @5 5
strongly disapprove 32% 36% 29% 21% 3% 0% 39% 5% 345 2a% G55 % 27% 2% 2a% 645, 6% 7% 27% 7% 2a% 32% 33% 36% 2% 6% 2% 3% 3% 20% 32% 3%
® © o) T T T RIMNGR K 3 K ® ® ST ST ST STUV STOV z Za < <
5 2 G 3 3 2 0 G 2 T 0 0 0 0 T 0 0 0 s 3 0 0 3 T T 0 0 0 2 3 3 0
(OKiNS) 0 0 0 0 0 0 - % 0 0 - - - 0 - - [ 3% % [ - % 0 0 - 0 - 0 % % 0
IR
. 2562 Toa4 Tote o5 71 592 3 707 =3 o3 737 3 288 % To5 2 % T80 268 250 a8 8L 90 W29 o7 To7 251 16 578 a8 55 s
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% T00% T00%
i
1123 526 597 361 310 ER 163 210 317 313 3 631 110 3 81 8 7 67 3 157 205 220 149 169 163 50 133 179 214 228 190 178
28 % 2% 5% 525 2% 0% 4a% 6% 4a% 50% 2% a5 36% 0% 2% 2% 5% 3% 5% Sa5, 50% 6% 38% 39% 1% 36% 53% 3% 3% 51% 2% 3%
oE o JCMNGR 3 3 3 3 3 VWXV VWXV b @
@30 76 75 £ W% £ iy N a0 308 &1 2 78 E3 3 % ) 2 165 L 203 %61 =7 255 73 106 18 2% EG 217 %62 7%
628 56% 56% 545, 8% 575% 60% 565 615 565 508 583 5% 625 G0% £ 7a%, 75% 2% 2% 5% 0% 5a% 61% 0% 59% 6a% % 57% 3% 8% 57% 57%
© © T T RLMNGR 3 3 3 3 3 ST ST ST ST z < <

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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‘Some people say that the Liberal government under
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to be re-elected this year. Other people say that itis time for another federal party to take over and run the country.
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FEMALE

Detailed Tables

e Party Party _Party (NDP) Party __other party __ballot sure
B D J K L [ P
[Base: Al cspondents 348 5 506 a1 82
Weighted 2562 1240 1318 699 871 952 374 707 858 623 737 743 288 195 32 26 1807 268 250 408 81 390 29 397 167 251 16 578 455 15
Trudeau goverment has done a good job and 1000 490 510 289 328 383 122 253 336 290 2 654 8 31 61 9 5 61 75 121 168 189 140 155 163 64 107 166 218 182 163 165
deserves re-election 39% 39% 39% 1% 38% 39% 33% 36% 39% a1% 4% 88% 27% 34% 31% 21% 18% 34% 28% 2% 41% 39% 36% 36% 1% 39% 2% 0% 38% 1% 36% 0%
FGH JLVNGR J J J J J
1535 745 789 406 536 28 445 328 709 89 208 131 2 2 u7 176 167 239 201 245 264 228 101 144 248 354 263 288 239
Time for another federal party to take over
58% 62% 6% 63% 53% 9% 12% 2% 6% 67% 73% 78% 65% 6% 57% 59% 60% 63% 62% 57% 61% 57% 60% 61% 59% 63% 58%
T T KLMNGR K K K
27 9 8 7 5 7 7 E 7 [ T 2 3 [ T 2 3 T T 5 0 [ T T Z 5 3 3 i
(OkiNs) 1% 1% 1% 1% 1% 2% 1% 1% 1% [ [ 1% 2% - 3% 1% 1% o o 1% 2% 2% 1% [ 1% 1% 1% 1% 3%
K J U
Siama 2562 1244 1318 699 871 992 374 707 858 623 737 743 288 9 195 32 2 180 250 408 481 390 429 397 167 251 416 578 448 455 415
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
ProportionsiMeans: Columns Tested (5% risk level) - AVB - CIDJE - FIG/H - JK/LIMINIOIPIQIR - SITIUNIWIXIY - Ziafb - cldfe Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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Detailed Tables

‘Generally speaking, would you say that things in this country are heading in the right direction, or are they off on the wrong track?

EDUCATION DECIDED-VOTE] FEMALE
Would not
he TheNew  The Bloc votelNone/  Don't
Conservativ The Liberal Democratic Québécois The Green  Peopl Orsome ouldspoil  KnowiNot
TOTAL < e Party Party _ Party (NDP) _(BQ) party Party ___other party __ballot 3
A B c ) 3 F J K L ] N o P R s T [ v W X 2 z a b c d e
Base: All ;espondents 2062 1126 67 762 33 01 383 505 73 531 646 25 131 153 21 12 115 225 T61 306 207 355 E 360 08 136 ES) a7 £ 409 386
Weighted 2062 1061 562 701 799 E 569 o1 501 585 508 202 7 o6 2 o 307 223 239 524 382 319 339 523 36 77 537 487 385 64 312
o711 a0 276 3 356 135 262 300 275 105 525 o 2 7 7 ) w0 & 23 15 168 150 T4 152 E 105 178 216 7 159 40
Right diection % 2% 9% 8% 5% 5% 6% 3% 5% 8% 86% 38% 39% 9% 8% 7% 31% 0% 52% 7% 9% ar% 3% a7 3% 590 3% aa% aa aa% 5%
GH JTVNGR 7 7 9 3 b b
1081 550 %87 S a7 166 308 S 226 83 &3 151 % B E) 5 % T3 116 7 1o 168 163 71 75 7z 158 271 21 204 72
Wrong track 53% 56% 51% 52% 55% 5% 5a% 579% 5% 829% 4% 2% 61% 51% 2% 3% 69% 0% 8% 53% 5196 3% 579% 3% 57% 1% a7 563 563% 563 55%
T T RLMNQR K K K KN K Z
S 2062 001 061 562 701 799 01 569 6oL 501 D 605 202 75 158 2 3 130 225 239 21 62 319 539 523 136 77 587 487 85 64 512
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Proportions/Means: Columns Tested (5% sk level) - AB - CIDIE - FIGIH - JI/LIMINIOIPIQIR - SITIUNIWIXIY - Ziab - clde Overlap formulae used. * small base; **very small base (under 30) ineligble for sig testing
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